Metgstat 3 7.5 7.6 1 b4 6.7 4
el o el 3 6.0 68 1 7.0 82 4
™7zt 5 68 74 1 58 6.0 6
FXfat 4 68 68 1 63 6.7 6
ADIE|TT 4 b4 78 1 6.7 83 6
CIXIZERI=CIXI 3 7.1 7.1 1 57 5.8 4
STl 1 75 75 1 838 88 2
W= N iy 1 49 58 2
AgAS|= X2t 3 6.6 6.6 1 63 8.9 4
2t 3 50 5.9 1 5.1 8.1 4
MIS3| At 3 5.6 5.6 1 5.0 7.1 4
olsESt 3 1 b4 7.6 4
S0tmst 2 5.6 6.1 1 5.1 80 3
oBEEESE 1 1 57/ 5.7 2

zYg
HINEEEE 1 1 7.6 7.6 2
Szt 5 6.7 83 1 b4 83 6
M| A Tt 3 53 75 1 7.6 6.2 4
RS0t 1 60 60 1 52 b4 2
TN et 3 .7 83 1 7.8 7.8 4
7 R ARt 1 2
sAx2|HE 4 58 7.6 1 6.2 7.7 6
AR AR 1 53 518 2
AN 5 63 6.6 1 5.8 7.0 6
OE - SINENZ 2 1 49 6.0 4
iéﬁé sflo1E 1 5.4 5.7 1 6.1 7.7 2
Ho|=Y - LYET 1 577 65 1 53 b4 2
O[HIEHZ T} 3 1 4
IMAERI2|AE T} 1 b4 7.1 1 6.1 7.8 2
ARX |7} 1 b4 73 1 6.7 8.0 2

X 2| T2 gl0| 2E XIEXIe| 25 SEZuUct,
X RE YOl FM/Hd sAt= LSS,

= o





